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Rank K % Fr & RA > MEAEE Rank K % Fr & RA v M EEE
1|& 1B '’ K|EHERZF 1170 3 1B &  iE|tetetete 560 3
2% & #F|EAERERAFE 900 1 20 B MY BlM b vE 500 3
3| B fE|tetetete 820 4 3(f1 B 18 B|ELAFET =X 480 3
Al FEREBREXKE 720 2 Al H B A|MbTrvE 280 2
5l #& IK|BBKRE 600 1 SltE4 KR BR|EHT=R077 260 1
6|E & K ¥E[zovTr=zs57 450 4 5 & JmELRFT=XE 260 1
M B 1 B|ELRET =R 400 2 MM E &’ XAz 220 2
8B B &= H|rranr=zrnr- 270 2 8|z A EKR|M brvE 200 1
9|k #  #L[TOY'S Tennis Lab 200 1 9|A A FH Z|REIT=XH= 180 1
9|8 M|/ T4y RT727=2 200 1 I FEE Zr—|571 v 7522057 180 1
11|F B =M b7 E 200 2 IE B BB|ERMTA 180 1
11|17 2 & A|BFETESHFAR 190 3 2 B @mF—Lr7T7oF 130 3
13/ B K|gzerr=zs357 180 2 BIR & EREE=SK 120 2
14(Bl #8 Z& K|Re-Try Morioka 160 4 13[B R & $Rfrrars=z27s7:- 120 2
R & EBREE=EK 150 2 13(pa &8 % K|Re-Try Morioka 120 3
16/ R K Bfpuvrrr=2s57 130 3 B+ M A BaAbrreE 120 1
16|57/ B FH FHlavzirur=zs57 120 2 13|k #2  fllprvars==zrrrz— 120 2
16|88 4 # FL|=FERASERERS 120 1 13|H & B B|sFErkymtEss 120 1
19|F B | &|5FKF 80 1 13|88 A& 1 H|zFEscsmtmmes 120 1
19(88 & R BIKEV7A 7T 80 1 201 & & —|TE AMO0/40 110 3
19(#f L 32 E|BREE=EK 80 1 20|@E = 4 2| T E AMO/40 110 3
22|®% B Z|TOY'S Tennis Lab 70 2 20| K A 18 75 BB|TOY'S  Tennis  Lab 110 2
22|11 #y B Z|7zvvur=zss7 60 1 201K & BRI ERFEFEEER 110 2
22|/ R OB K|7vvurz=zess 50 2 24|18 # B M|7vy75=24357 100 2
221l @ B|BEIHESELK 50 2 24|N T £ B|fEEdER 100 1
2611 |R O ME(RET =077 42 4 26|18 H & A|WBET=2077 80 1
26|F H m|EwsEmT=zis 40 2 27|13 7] & B|eAlET=Ro57 64 2
26( H lL.L.C 40 2 28|18 £ ¥ ElkAlBTFZzIST 60 1
26|F I B —|RDKRAGF 40 1 2888 O Mlfzvannqrrr=zss7 60 1
VA F A|LWET=RsFT 40 1 28|/ A I #E| T E AMO0/40 60 1
O|EAI ER|pLrrorr=2s57 40 1 31|#E Iy T|TOY'S Tennis Lab 50 1
32|/ A N 2|EFHEER 40 1 31|18 B {1 Z|rrvr-vr=zs357 50 1
33|83 #F B M|zevrrz=zess 40 2 31 L B K| esvr-vrzzs57 50 1
BEE R XA MrvE 30 1 3| % MdLTC 50 1
33|k B K Efrvanacrar=assy 24 2 3BIER B EELKRETZRE 46 2
33[F 9 FH|rrvari=zTari- 22 2 36/ R R HlFuvarrr=zs57 41 3
BMTHE F—|&8FRF7=2r57 20 1 36(8% K B Rlmuvrrr=2s57 41 3
38(&F W f#ElHLLETC 20 1 BH R H# BEEFERKE 40 1
BWMHEH B AMbTrvE 20 1 38[(AF £ BA FE|vvowsroarara- 40 1
8|2 H BEExroLE 20 1 38|k BE T (h|aFENAPEREHRS 40 1
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Rank | K % e A v M EEHK Rank | K % B A v b EAEHK
43|F &8 K R|BREIESFFR 14 2 38| W B 2|7v¥vr=zs57 40 1
43|15 B R B|REIEREFFR 14 2 38|)Il # % =E|Re-Try Morioka 40 1
45|F FE IE #2|kiss shot 10 1 43| B Z FIBEITESK 30 1
45|8% 2 % 2| T E AMO0/40 10 1 43|15 1B B F|evarvr=zs57 30 1
45|% = E Ah|zvvvr=zs357 10 1 A5\t B K|EFEFT=24357 26 2
45|H O Xk £|5FERKZE 10 1 46| H  H¥|L.L.C 24 2
45|17 N B BE|EFERKFE 10 1 477 H E B|EFERKZE 20 1
45|F B X E|fESTC 10 1 47/ W B E|EFERKE 20 1
45|1% B K WBEET=RI 77 8 1 A7\ 7T K Z|E5FaFEFR 20 1
52| A & H|BEIESFFK 8 2 4712 R FR|EMHT =B 20 1
52| B B B|REIESEIR 8 2 471/ R FH X|E/MNHT =2 20 1
52|F B 4 2| T E AMO0/40 6 1 AT I 8 E|EFeFEFR 20 1
55|F ¥ IE M|EBT=Rs77 6 1 47198 B A #L.L.C 20 1
55|f 1L & tB|db LT C 6 1 47 FH = |passEnr-xibe 20 1
55|% H B A|REIESHEFIR 6 2 471F E IE #2|kiss shot 20 1
55|75 B Y BE|atn-rr=zs57 6 1 47/K B B B|LAIFTC 20 1
55|75 Bk fi2 |t ETAY 2 =7 6 1 57(B L m|msor-arzzssv 10 1
S50/ WL 3R | EME—mERR 6 1 57|16 & & K|-ws7r-nr=2s57 10 1
5|8 K E|EFEHRKRFE 4 1 574 K B Z|7v995=2057 10 1
62| # = H|EFERKZFE 4 1 b7\t B R &|Philip TC 10 1
62|42 R B EFERKZE 4 1 57|#% &  s2|TOY'S Tennis Lab 10 1
62|m = & Al7vrrr=2s57 4 1 62(% H == &m|EFERKE 6 1
62|11 B  AL|BEFERKF 4 1 62|tk 4 A2 Bh| B FERIAZ 6 1
62| R M B|5FERKF 4 1 62|11 JIl B R 7Y 7T =X 6 1
62|28 H & B|5FERKFE 4 1 62|11 & & HBlEFERKE 6 1
62|t & & HB|EFERKFE 4 1 62| H = A|&—IXATC 6 1
62| =Z % BS|Y b TC 4 1 62|= & AL &H|MTC 6 1
62(F R #& AlY bHTC 2 1 62|/ R B K|7VYT TR 6 1
62|50 H — #|EEn-rr=zs57 1 1 62|% I8 | TE AMO/40 6 1
62|H O sk 4£|[EHFERKFE 6 1

71|F & & K|Re-Try Morioka 4 1

TN F R B —HEeE 4 1

11R F  #H|—HEsE 4 1

1E R M &7 7F -7 4 1

T £ | KMETT = X 4 1

T6|B8 R B |77 v bERT 1 1

T6|% b B BB T A — LT 1 1

76|18 F E£E|MTC 1 1
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Rank| K % B A MEREEHK Rank| K % B BA v b A
1M 4 K B|LHKZF 1540 2 1I°F B £ H|EEKRT 260 1
2[F B E H|EEKRF 1050 2 1|1W # £ F|F SA 260 1
3| W/ £ FIFSA 620 2 (BB O H Y |BEAEAREESK 40 1
an & ¥ ElZ7A4 KT 520 2 N A Zlsrirrrrzzsss 40 1
Al & & F|EHEAKRERE 400 1
6|F Bt & K(LET=x077 120 2
6| K M H|ZLALTA 120 1
B|E R B R E|ELT A 80 1
8% # & F|dLETC 80 1

10(E=ZmHAZEY LY >TC 40 1
11| Il © H|fEELSEFR 20 1
11| ZE| ) FLHTC 20 1
13|m £ B K|&ETAY 2 =7 10 1
13|18 # & R|ESILSFEFIRK 10 1
15(E 1 #hZE[EELASEER 10 1




